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1. In the given figure, KL|I).If E = 5 andHJ=10.6 cm, findHL

| J
(i) 6.24 cm (ii) 4.24 cm (iii) 3.24cm (iv) 5.24cm (v) 2.24cm

In the given figure, KL|1].
" If HK=10.07 cm,HI=15.1 cmandH)=14.5 cm, findHL
H

I J
(i) 9.67 cm (ii) 7.67 cm (iii) 8.67 cm (iv) 10.67 cm (v) 11.67 cm

3. In the given figure, TU || CD and BD = 20 cm, TU = 12 cm and CD = 20 cm, find BU
B

C D]

(i) 13.0cm (ii) 11.0cm (iii) 12.0cm (iv) 10.0cm (v) 14.0 cm



4. In the given figure, ANOP is isosceles right-angled at O and OQ L PN. £ZN =
N

O P

(i) £0 (ii) £P (iii) 4R (iv) £4S (v) £Q

5. In the given figure, AJKL is isosceles right-angled at K and KM L LJ. ZKM] =
J

K L
(i) £KLM (ii) ZJKM (iii) £MJK (iv) £ZMKL (v) ZJKL

In the given figure, three lines |, m and n are such that | | m || n.
6. Two transversals PQ and RS intersect them at the points A, B, Cand D, E, F respectively.
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(i) AACF (ii) AFDA (iii) AFEH (iv) ADCF (v) ADAE



In the given figure, three lines |, m and n are such that | | m || n.
7. Two transversals PQ and RS intersect them at the points A, B, Cand D, E, F respectively.
LHAB =
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(i) £LFEH (ii) 4ZHFE (iii) £ZFDA (iv) ZFAC (v) ZAFD

In the given figure, three lines |, m and n are such that | | m || n.
8. Two transversals PQ and RS intersect them at the points A, B, Cand D, E, F respectively.
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(i) LFDA (ii) £EHF (iii)) £4DAF (iv) 4ZFEH (v) ZLACF

In the given figure, three lines |, m and n are such that | | m || n.
9. Two transversals PQ and RS intersect them at the points A, B, Cand D, E, F respectively.
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(i) £LEHF (ii) 4£CFA (iii) £ZHFE (iv) 4BHA (v) ZAFD

m




In the given figure, BCDE is a trapezium in which

BC | DEand the diagonalsCEandBDintersect atF.

If FB=(2x+14)cm,CF=(3x+16)cm,FD=(x+12)cm and
EF=(2x+6) cm, find the value of x

10.

(i) (-4,20) (i) (19,-5) (iii) (18,-6) (iv) (18,-7) (v) (20,-6)

11. In the given figure, the altitudes UH and IV of AGHI meet at T. ZHTV =
G

H I

(i) £LVHT (ii) £TIU (iii) £TVH (iv) ZIUT (v) ZUTI

In the given figure, ST | BC, and median AD bisects ST.
"If AB=17cm,AD =17 cm and AS = 7.56 cm, ED =
A

B D C

(i) 9.44 cm (ii) 10.44 cm (iii) 8.44cm (iv) 7.44cm (v) 11.44cm

In the given figure, TU | FG , and median EH bisects TU.
If EH=15.6cm, El =9.36 cmand EU =11.4cm, EG =
E

13.

F H G

(i) 18.00 cm (ii) 21.00 cm (iii)) 17.00 cm (iv) 20.00cm (v) 19.00 cm



In the given figure, AEFG is a triangle in which EH is the internal bisector of LE and Gl || HE meeting FE produced
" atl. LEGI =

F H G
(i) £HGE (ii) £EHG (iii) £4FHE (iv) ZIEG (v) 4GEH
15 In the given figure, | and ] are points on the sides FG and FH respectively of AFGH.For which of the following
" cases, ] | GH

a) FG=18cm,IG=9cm, F)J=11.5cmand FH =19 cm

)

b) FI=9cm,IG=9cm, FJ=9.5cmandJH=95cm
)
)

c) FG=18cm,Fl=11cm,FH=19cmand JH =9.5cm
d)FG=18cm,IG=9cm,FH=19cmand F) = 9.5 cm
F
J
G H

(i) {a,d,b} (ii) {a,c,b} (iii) {c,d} (iv) {b,d} (v) {a,b}

16 In the given figure, the area of the AlJK is x sg.cm. L,M,N are the mid-points of the sides JK, Kl and I] respectively.
" The area of the ALMN is

1 2 3 1 1
(i) 2 of area of AlJK (ii) -3 of area of AlJK (iii) 2 of area of AlJK (iv) 3 of area of AlJK (v) 3 of area of AlJK



In the given figure, the parallelogram ABCD and the triangle AEAB are on the same bases and between the same

17. parallels.
The area of the AEABIs x sq.cm. The area of the parallelogram is

D E &

A B

4
(i) thricethe area of the triangle (ii) 3 the area of the triangle (iii) twicethe area of the triangle

3 5
(iv) > the area of the triangle (v) 2 the area of the triangle

If the ratio of the bases of two triangles is D : E and the ratio of the corresponding heights is F : G, the ratio of
" their areas in the same order is
(i) FG:DE (ii) DE:FG (iii) DF:EG (iv) EF:DG (v) DG:EF

19. In the given AFGH, IJ || GH. If FI:IG =13.33cm :6.67 cm and FH =20cm, F] =
F

G H
(i) 12.33 cm (ii) 14.33 cm (iii) 11.33 cm (iv) 15.33cm (v) 13.33cm

20. In the given figure, given £ZJGH = ZIGJ, x : y =10.26 cm : 9.74 cmand p =20 cm, find q =
G

H % ] Y |

(i) 21.00cm (ii) 17.00 cm (iii) 19.00 cm (iv) 18.00cm (v) 20.00 cm

21. In the given figure, given LGDE = LFDG, p = 11.43 cm, g = 8.57 cm and EF = 20 cm, find EG =
D

-

E G
(i) 9.43cm (ii) 10.43 cm (iii)) 12.43cm (iv) 11.43cm (v) 13.43cm



22. In the given figure, GHI] is a trapezium where OG = 14 cm , OH =14 cm and O) =5 cm . Find Ol =
] |

G H

(i) 5cm (ii) 6cm (iii) 7cm (iv) 4cm (v) 3cm

23. In the given figure, £LGHJ] = 42.27°, find the value of x =
G

xD

H I

(i) 48.73° (ii) 46.73° (iii) 47.73° (iv) 49.73° (v) 45.73°

24. In the given figure, LCDE = 47.43°, find the value of y =
B

C D

(i) 41.57° (ii) 44.57° (iii) 43.57° (iv) 40.57° (v) 42.57°



25. In the given figure, ACDE is right-angled at D. Also, DF L CE. Which of the following are true?

a) DF2=CF.FE

b) CD2=EC.EF

c) DE2=CE.CF

d) DE2=EC.EF

e) CD2=CE.CF

C

D E

(i) {b,ce} (i) {bad} (i) {b,a} (iv) {ade} (v) {cd}

26. In the given figure, AEFG is right-angled at F. Also, FH 1L EG. If FG = 15 cm, FH = 10.94 cm, then find EF.
E

F G

(i) 15.00 cm (ii) 17.00 cm (iii) 18.00 cm (iv) 14.00cm (v) 16.00 cm

27. In the given figure, AGHI is right-angled at H. Also, H} L GI. If Jl = 15.2 cm, H) = 12.99 cm, then find GJ.
G

H I

(i) 10.10 cm (ii) 12.10 cm (iii) 11.10 cm (iv) 9.10cm (v) 13.10cm



In the given figure, ABCD ~ ANOP and BC = 13 cm, NO = 18.2 cm.
" If the area of the ANOP=122.28 sq.cm, find the area of the ABCD
N

{= D O P

(i) 60.39 sgq.cm (ii) 63.39 sq.cm (iii) 61.39 sq.cm (iv) 62.39 sg.cm (v) 64.39 sq.cm

29 In the given figure, ADEF ~ AMNO and EF = 14 cm , NO = 19.6 cm and

MP=16.97 cm, find the area of the ADEF
M
D |
o o
E G F N p 0

(i) 86.87 sq.cm (ii) 85.87 sq.cm (iii) 82.87 sq.cm (iv) 84.87 sq.cm (v) 83.87 sq.cm

In the given figure, ACDE & APQR are similar triangles. If the ratio of the heights CF : PS = 11 : 15, then the ratio
" of their areas is

P
lj

D F E Q 5 R
(i) 121sg.cm:225sqg.cm (ii) 122sqg.cm:225sg.cm (iii) 121sg.cm:228sqg.cm (iv) 121sg.cm:222sqg.cm

(v) 120sq.cm:225sg.cm



In the given figure, points E , F and G are the mid-points of sides CD, DB and BC of ABCD. Which of the following

31.
are true?

a) Area of ABCD = 4 times area of AEFG
) Area of trapezium CDFGis-All the area of ABCD

c) Area of trapezium CDFG is thrice the area of ABGF
) Area of ABCD = ; area of AEFG

e) All four small triangles have equal areas

B

(0]
-5

c D

(i) {a,ce} (ii) {b,d,e} (iii) {b,a} (iv) {d,c} (v) {b,ac}

The perimeters of two similar triangles are 26 cm and 20 cm respectively. If one side of the first triangle is 9 cm,

32.
find the length of the corresponding side of the second triangle.

(i) 4.92cm (ii) 5.92 cm (iii) 8.92cm (iv) 6.92cm (v) 7.92cm

33. In the given figure, | is a point on side GH of AFGH such that ZHFG = £ZFIH = 106° , ZIHF = 29°. Find £ZHFI
F

106°

29%-
G | H

(i) 47° (ii) 43° (iii) 45° (iv) 44° (v) 46°

LMNO is a square and ALMP is an equilateral triangle. Also, ALNQ is an equilateral triangle. If area of ALMP is 'a'
" sg.units, then the area of ALNQ is

Q

L M

. 1 1 .
(i) azsq.units (ii) v3 a sq.units (iii) 5 a sq.units (iv) 2a sq.units (v) 5 V3 a sq.units



35. EFGH is a cyclic trapezium. Diagonals FH and EG intersect at I. If HE = 15 cm, find FG
H G

E F

(i) 13 cm (ii) 14 cm (iii) 17 cm (iv) 15cm (v) 16 cm

A vertical stick 16 mlong casts a shadow of 11 mlong on the ground.

36. At the same time, a tower casts the shadow 88 mlong on the ground.
Find the height of the tower.

R

B C 5 T

(i) 126 m (ii) 130 m (iii) 129 m (iv) 127 m (v) 128 m

In the given figure, AABC, PQ || BC such that
7. AP
area of AAPQ = area of PQCB. Find AB

A

B C

(i) 1 (i) 1\/1 (iii) 132 (iv) 1\/5 (v) 1\/2
i i) Vg (i) v) vl



In the given figure, ACED is right-angled at E, EF L CD.

38.
CD= c,ED= a,CE= b andEF = p.Which of the following are true?
a) ab=pc
1 1 1

b) 2+ 3=
2% ,27 2

1 1 1 1
) 2+ 2+ 2="2
a b C p
1 1 1 1
d 2+ 2=2+ 2
a b C p

e) a2+ b2=c2

C

E D

(i) {d,b} (i) {c,d,e} (iii) {c,a,b} (iv) {c,a} (v) {a,b,e}

39. In an equilateral triangle ABC, the side BC is trisected at D. Then

2 2 2 2 2

(i) 3AD%=7AB2 (i) 9AD%=7ABZ (i) 7AD%=3 AB 2

(iv) 7ADZ%=09 AB

40. In the given figure, LEBC = £DBE and BE | FD and BC = 15 cm, CE = 9 cm and ED = 11 cm. Find BF
F

c E D

(i) 17.33 cm (ii) 20.33 cm (iii) 19.33 cm (iv) 16.33cm (v) 18.33cm



In the given figure, EG is the angular bisector of LZE& LG
DE=20cm,EF=20 cmandFG=25 cm.FindGD
G

41.

D E

(i) 26.00 cm (ii) 27.00 cm (iii) 24.00 cm (iv) 23.00cm (v) 25.00 cm

In the given figure, EFG is a triangle and 'O’ is a point inside AEFG. The angular bisector of ZFOE, LGOF & LEOG
" meet EF, FG & GE at H, | & ) respectively . Then
E

F | G
() EH.FI.GJ=0H.Ol.OJ (ii) EH.Fl.G)=EF.FG.GE (i) EH.Fl.GJ = OE.OF.O0G
(iv) EH.FI.GJ=HF.IG.JE (v) EH.FI.GJ=HI.I.JH

43. In the given figure, if A, Q, R, S, T, U are equidistant and RP || UB and AB = 25 cm and AP = 10 cm. Find PB

A p B

(i) 14.00cm (ii) 17.00 cm (iii) 15.00cm (iv) 16.00cm (v) 13.00 cm



44. From the given figure and values, find x

(iy (-30,57) (i) (58,-32) (iii) (56,-31) (iv) (55,-33) (v) (55,-32)

The ratio of the bases of two triangles ABC and DEF is5:4 .
" If the triangles are equal in area, then the ratio of their heights is

(i) 6:4 (ii) 4:4 (iii)) 5:6 (iv) 4:5 (v) 5:2

46. If the measures are as shown in the given figure, find BC

(i) 22.0cm (ii) 18.0 cm (iii) 20.0cm (iv) 21.0cm (v) 19.0

In the given figure, the two circles touch each other internally.
Diameter OB passes through the centre of the smaller circle.

OX =10 cm,OY = 23 cmand radius of the inner circle is5.5 cm.
Find the radius of the outer circle.

47.

Y

P P

(i) 10.65cm (ii) 11.65cm (iii) 12.65cm (iv) 14.65cm (v)

cm

13.65 cm



Assignment Key

1) (i) 2) (i) 3) (iii) 4) (ii) 5) (v) 6) (i)
7) (iv) 8) (v) 9) (i) 10) (iii) 11) (v) 12) (i)
13) (v) 14) (v) 15) (iv) 16) (i) 17) (iii) 18) (iii)
19) (v) 20) (iii) 21) (iv) 22) (i) 23) (iii) 24) (v)
25) (iv) 26) (v) 27) (iii) 28) (iv) 29) (iv) 30) (i)
31) (i) 32) (iv) 33) (iii) 34) (iv) 35) (iv) 36) (v)
37) (v) 38) (v) 39) (ii) 40) (v) 41) (v) 42) (iv)
43) (iii) 44) (v) 45) (iv) 46) (iii) 47) (iii)
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